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T LEHAEE
TR FE RS (B<1.0)
w0 | BEOBE g =
moOFE | CPHEAE| A B | m OB | CPHmRE| KR
m m2 m2 m m m2 m
No.3+15.10 0.0 0.0
No. 4 4.9 0.0 0.00 0.0 0.1 0.05 0.2
No. 5 20.0 0.0 0.00 0.0 0.0 0.05 1.0
No. 5+18.64 | 18.6 0.0 0.00 0.0 0.0 0.00 0.0
No. 5+18.64 | 0.0 0.6 0.30 0.0 0.0 0.00 0.0
No. 6 1.4 0.6 0.60 0.8 0.0 0.00 0.0
No. 6+0.72 0.7 0.6 0.60 0.4 0.0 0.00 0.0
No. 6+0.72 0.0 0.0 0.30 0.0 0.0 0.00 0.0
No. 6+5.00 4.3 0.0 0.00 0.0 0.0 0.00 0.0
No. 7 15.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 7+3.48 3.5 0.0 0.00 0.0 0.0 0.00 0.0
No. 0+3.72 0.0 0.0
No. 0+10.00 | 6.3 0.0 0.00 0.0 0.0 0.00 0.0
No. 0+30.00 |  20.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 0+44.67 |  14.7 0.0 0.00 0.0 0.0 0.00 0.0
& &k 109.40 1.2 1.2
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T LEHAEE
B 1(1.0=B<2.5) B (2.5 =B<4.0)
2 N g =
moOFE | CPHEAE| A B | m OB | CPHmRE| KR
m IH2 IH2 m IH2 IH2 m
No.3+15.10 0.0 0.0
No. 4 4.9 0.0 0.00 0.0 0.0 0.00 0.0
No. 5 20.0 0.5 0.25 5.0 0.0 0.00 0.0
No. 5+18.64 | 18.6 0.5 0.50 9.3 0.0 0.00 0.0
No. 5+18.64 | 0.0 1.0 0.75 0.0 0.0 0.00 0.0
No. 6 1.4 1.0 1.00 1.4 0.0 0.00 0.0
No. 6+0.72 | 0.7 1.0 1.00 0.7 0.0 0.00 0.0
No. 6+0.72 | 0.0 1.1 1.05 0.0 0.0 0.00 0.0
No. 6+5.00 | 4.3 1.1 1.10 4.7 0.0 0.00 0.0
No. 7 15.0 0.1 0.60 9.0 0.0 0.00 0.0
No. 7+3.48 3.5 0.0 0.05 0.2 0.0 0.00 0.0
No. 0+3.72 0.0 0.0
No. 0+10.00 | 6.3 0.0 0.00 0.0 1.0 0.50 3.2
No. 0+30.00 |  20.0 0.0 0.00 0.0 3.2 2.10 42.0
No. 0+44.67 | 14.7 0.0 0.00 0.0 3.2 3.20 47.0
& &k 109.40 30.3 92.2
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T LEHAEE
FE RS 1(4.0=B)
S BB g =
moOFE | CPHEAE| A B | m OB | CPHmRE| KR
m m2 m m m m2 m
No.3+15.10 0.0
No. 4 4.9 0.0 0.00 0.0
No. 5 20.0 0.0 0.00 0.0
No. 5+18.64 | 18.6 0.0 0.00 0.0
No. 5+18.64 | 0.0 1.8 0.90 0.0
No. 6 1.4 1.8 1.80 2.5
No. 6+0.72 0.7 1.8 1.80 1.3
No. 6+0.72 0.0 0.0 0.90 0.0
No. 6+5.00 | 4.3 0.0 0.00 0.0
No. 7 15.0 0.0 0.00 0.0
No. 7+3.48 3.5 0.0 0.00 0.0
No. 0+3.72 0.0
No. 0+10.00 | 6.3 1.8 0.90 5.7
No. 0+30.00 |  20.0 0.0 0.90 18.0
No. 0+44.67 |  14.7 0.0 0.00 0.0
& &k 109.40 27.5




B R RE L (PRKifEfL 4.0=B)
V= (5.00010.000+1.200 X 1.200) X 2.000 =
B RRE£(4.0=B)

XV= 275 + 1029 = 130.4 m’
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T LEHAEE
KRR 1(2.5 =B <4.0) FEIRRE 1T(4.0=B)
w0 | BEOBE g =
moOFE | CPHEAE| A B | m OB | CPHmRE| KR
m m2 m2 m m m2 m
No.3+15.10 0.0 0.0
No. 4 4.9 0.0 0.00 0.0 0.0 0.00 0.0
No. 5 20.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 5+18.64 | 18.6 0.0 0.00 0.0 0.0 0.00 0.0
No. 5+18.64 | 0.0 0.0 0.00 0.0 7.2 3.60 0.0
No. 6 1.4 0.0 0.00 0.0 7.2 7.20 10.1
No. 6+0.72 0.7 0.0 0.00 0.0 7.2 7.20 5.0
No. 6+0.72 0.0 0.5 0.25 0.0 0.0 3.60 0.0
No. 6+5.00 4.3 0.5 0.50 2.2 0.0 0.00 0.0
No. 7 15.0 0.0 0.25 3.8 0.0 0.00 0.0
No. 7+3.48 3.5 0.0 0.00 0.0 0.0 0.00 0.0
No. 0+3.72 0.0 0
No. 0+10.00 | 6.3 0.0 0.00 0.0 7.2 3.60 22.7
No. 0+30.00 |  20.0 0.0 0.00 0.0 5.0 6.10 122.0
No. 0+44.67 |  14.7 0.0 0.00 0.0 5.0 5.00 73.5
& &k 109.40 6.0 233.3
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T LEHAEE
VT T (R 1)
s iER- 3 5 =
W R | FERE| m | VRN O
m m m m* m m
No.3+15.10 0.0
No. 4 4.9 0.1 0.05 0.2
No. 4+4.3 4.3 1.2 0.65 2.8
No. 5 15.7 1.2 1.20 18.8
No. 6 20.0 2.0 1.60 32.0
No. 6+5.00 5.0 2.1 2.05 10.3
No. 6+11.4 6.4 2.1 2.10 13.4
No. 7 8.6 0.8 1.45 12.5
No. 7+8.7 8.7 0.0 0.40 3.5
S 73.60 93.5 0.0




§3 {EmL

M TR

i Al i Al H B | HALl %K = =
By —hT gy —h t=0.4mm m? 93.
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W TR R E
B —h
B | BB 5 =
W R | FERE| m | VRN O
m m m m m
No.3+15.10 0.0
No. 4 4.9 0.1 0.05 0.2
No. 4+4.3 4.3 1.2 0.65 2.8
No. 5 15.7 1.2 1.20 18.8
No. 6 20.0 2.0 1.60 32.0
No. 6+5.00 5.0 2.1 2.05 10.3
No. 6+11.4 6.4 2.1 2.10 13.4
No. 7 8.6 0.8 1.45 12.5
No. 7+8.7 8.7 0.0 0.40 3.5
S 73.60 93.5 0.0




§4 ¥ERET
e e ey
i il gl bl bs) [ % & 5 =
BT HHERE T a7 —h 18-8-40 m’ 1.8
T /N 2 5.1
K& AT VP ¢ 75 0.9
W LB 1A 300 %< 300 X 50 m? 0.1
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& W AL ' G RE

TR KO il R eRE
O 1.8m4Y
400

I
o
o
o
4 B B 2V WALl HE
A 7)—h 18-8-40 |V = 1/2x(  0.400 + 1.065 )X 1.330 X 1.800 | mp® [ 1.754
T NS [ A = ( 1487 + 1.330 )X 1.800 m’ | 5.071
KikE AT ¢ 75 A= 0.880 x 1.118 x 1.800 = 1.771
N= 1771 / 3.00 = 1
L =( 0.400 + 0.440 x 1.118 )x 1 m | 0.892

WA LBA IERE | 300X300X50 | A = 0.300 X 0.300 x 1.0 m* 0.090
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Pk LRI
fil il il all B & Bzl # = fi§ B
+T PRYED m’ 578.0
HRLB m’ 340.7
HLERLD m’ 4.1
AT T PU150 PU1-B150-H150 m 30.0
PU240 PU1-B240-H240 m 35.5
PU300 PN m 23.1
LA m 1.8
KRBT YNkt 400X 400 X 550 & AT 1.0
VN VRt 400 400 X 1150 & AT 1.0
AZS OV 2 5 VAZ S oSN 1500 X 1500 m 51.2
FEAE1500 X 1500 X 2000 | & 14.0
FEAE1500 X 1500 X 2000 | & 2.0 [JEREBE 11 ¢ 50 257
£H91500 X 1500 X 1889,/1439| 1.0 RERRIC A 1Y
911500 X 1500 X 1875/1830|  {@ 1.0 | {HIEEBH O ¢ 400
11500 1500 X 812/767( 1l 1.0 | EEHREA 11 ¢ 50 24T
11500 X 1500 < 988/752 1.0
£HI11500 X 1500 X 1242/1006[ ] 1.0
AHII1500 X 1500 X 1271/977| 1@ 1.0 | KB 1 ¢ 50 27
#£HI11500 X 1500 X 1797/1503|  {#] 1.0
#H11500 X 1500 X 1679/1647| ] 1.0 |JERKBH 1 ¢ 50 26T
#£HI11500 X 1500 X 1662/1630[ ] 1.0
#£HI11500 X 1500 X 1805/1431| ] 1.0
#£HI11500 X 1500 X 1584/1210[ ] 1.0
£HI11500 X 1500 X 1544/1250( ] 1.0
AHI11500 X 1500 X 1089/795| 1 1.0
AHII1500 X 1500 X 1479/831| 1@ 1.0 | ZEMD13 X 2541500
PCXY#E ¢ 12.7mm SWPR7BN kg 198.1
TEAE H ¢ 21.7mm/H i 88.0
VB ENBS 1L 8k D13 kg 2.3
Bl T77 > 71— M16 & T 10.0
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i il gl bl ps) s HAL| #% = g =
AAHET HENHL(1:3) m’ 1.8
Ftff=r 70— 1 (18-8-40) m’ 15.2
TP (/R m” 15.4
FEWER t=20cm (RC-40) | m® 101.4
RNy 7 A BT 0T & A 1.0
Ry AT 0T &7 1.0
Bk =5 T SR t=4.5mm kg 429.1
i H D13 kg 9.8
L-50 X 50X 6 kg 295.0
A7) — T IR ) — 1500 1500 = 1.0




BEAKREEY) T+ THEHFE
PU1-B150-H150
RYEY  V=2.000/10.000 X 30.0=
HELD  V=1.000/10.000X 30.0=

PU4-B300-H300(/'L —F 7' &)
YD V=6.3.000/10.000 % 23.1=
HELD  V=2.42/10.000X23.1=

B 28 L 3—R1500 X 1500)
WY V=

HELB V=
kS T/RE T
RYRY  V=6+3.1+568.9=
HELB V=

HERELD V=3+l.1=
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6.0 m®

3.1 m’

11 m?

568.9 m*
340.7 m*



Ry T AN AN—MEZE A T EHEE

‘ ) PR EHILB
R SR i B
moAE | CPHEAE] R B m [ CEYmRE| R
m m IH2 IH3 m IH2 IH3
No. 0 4.1 1.6
No. 0+10.00 [ 8.2 4.1 4.10 33.6 1.6 1.60 13.1
No. 0+30.00 | 21.3 15.2 9.65 205.5 9.6 5.60 119.3
No. 0+44.67 | 21.7 15.2 15.20 329.8 9.6 9.60 208.3
& F 51.2 568.9 340.7
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SR/ R VAR~ G Gl

R KON Bl PU150
BT 10.00m24Y
435
210
30 30 225 210
= = U BELSL (1:3) =l .
W X E— L — =2
(=) z [ l IN N T D Om
ET 0O -
£B# (RC-40)
50 | | 50 200 | 235 KEY | 0.2
' BRL 0.1
435
% B P S B = H A7 o
PU150 PU1-B150-H150| N = 10.000 / 0.600 @ | 16.667
e LA L 1:3 V= 0.150 X 0.030 x 10.000 m® 0.045
Byl RC-40 A = 0.260 x10.000 m? 2.600
R YD +4b V= 0.2 x10.000 T 2.000
HERL D V= 0.1 x10.000 m3 1.000
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S N 2 1. N =N = A
W E W BE o E A E
R KON Bl PU240
BT 10.00m24Y
330
45 240 45
1S HELAL (1:3)
= 1 [
HEBH (RC-40)
50 240 | 50
340
% O =) =X B i 5
PU240 PU1-B240-H240| N = 10.000 / 0.600 M | 16.667
L2 L 1:3 V= 0.240 X 0.030 x 10.000 m3 0.072
FosA RC-40 A = 0.340 X 10.000 m? 3.400
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S N2 L. N =, = A
W E W BE o E A E
FiR K OY A PU300
BT 10.00m24Y
600
1000
150 300 150
GL—Fv455(1-15) 200 600 200
/)
[ | =
= - I
- o
bt HELSN(1:3) t J S /) =
- S i :
LR # (RC-40)
600 600
700 700
%4 R GSE S 1 = BT 2§y
PU300  |PU4-B300-H300| N = 10.000 / 4.000 ® | 2.500
HE )L AL 1:3 = 0.600 X 0.030 X 10.000 m® | 0.180
R RC-40 = 0.700 X 10.000 m? | 7.000
Pl—F 7% T-25 = 10.000 / 1.000 ¥ | 10.000
Iz +p = 1.0 X 0.630 X 10.000 m® | 6.300
HRRL D = 6.3 —( 0.600 X 0.530 + 0.700 | 2.420
X 0.100 )X 10.000
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SH- N 2 r 1. N =N = A
W E W BE o E A E
FiR K OY A B
B EEEV.
B
700
150, 400 150
=
é%
B
[ B
L \ || | #mxm S| S
IREE il
=
LS
=
S -1 EE 2-28ERX
700 700
150 400 150 150 400 150
906 400 9 () 906 400 090]
JU—F 5 E(1-25) ‘
300
Y}\\\}\ o I "_‘3(‘)0”‘ |
Sl IR Al -
L % EgAE 5| 2 BEkE |2 ‘L J‘ EETS =
00 909 — 0 — B
i 700 j 3; 700 la
800 EBEHM (RC-40) 800
% B pS S B =y B A7 B
a v yY—h 18-8-40 V = 0.700 X 0.700 X 0.700 - ( 0.560 X 0.560
X 0.056 + 0.400 X 0.400 X 0.494 + 0.300
X 0.400 X 0.150 X 2.0 + 0.300 X 0.290
X 0.150 ) m® 0.197
Hll e JNRIREYEY) | A = 0.700 X 0.700 X 4.0 + 0.400 X 0.700
X 4.0 - 0.300 X 0.400 X 4.0 - 0.300
X 0.290 X 2.0 m? 2.426
FopEAA RC-40 t=100mm| A = 0.800 X 0.800 m? 0.640
TL—F 7% T-25 N = iy 1.0
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\ﬂ: ANAV4 r 1. N =N = A
W E W BE o E A E
R KON Bl LBkt
=R VA L& FT40
E
800
200 400 200
| e
IR |
E ‘Hm;} =
[ S I
Ry g ZANIR—+
(1500)(‘1500)
=
178 -1 @EK 2-2ME
800 800
200 400 200 200 400 200
1406 400 140] 1406 400 0140
‘ JL—%y Y% (1-25) ‘ ‘
“H:H\]OH I T T I
e - I
“ S P Sk
% %3500)
090 0 = g00) 5900} — s
4_ 800 } 800 j
900 EEH (RC-40) 850
% FR WO B = BT Yo
a7 —h 18-8-40 V = 0.800 X 0.800 X 1.200 - ( 0.560 X 0.560
X 0.056 + 0.400 X 0.400 X 0.994 + 0.300
X 0.290 X 0.200 + = X 0.150% x 0.200 )
m 0.560
Hll e JNRIREYEY) | A = 0.800 X 1.200 X 4.0 + 0.400 X 0.994
X 4.0 - 0.300 X 0.290 X 2.0 - &«
% 0.1502 % 2.0 m? | 5.115
By RC-40 t=100mm| A = 0.900 X 0.850 m? 0.765
TV —F T & T-25 N = = 1.0
VP& ¢ 300 = m 0.400
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& & W B L

&

Aos

MBI KO

VAZSOAVNIZAN

BT 10.00m24Y
1780
4 1500 4
7S 5=
BELAL
(1:3)
Y EPY D = J
(18-8-40) ~3
NV 000 000 s
(RC-40)
0 1780
1980
PA i) WO 1 B2V VA g
TVUEpAMK A | 1500 X 1500 | N = i[5 MR
R LA L 1:3 V = 1.780 X 0.020 X 10.000 T 0.356
FepfEa ) -} 18-8-40 V = 1.980 X 0.150 X 10.000 m® 2.970
iy /NI A= 0.150 xX10.000 X 2.0 —~ 3.000
FEREAA RC-40 A = 1.980 X 10.000 m? | 19.800
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& W B &

iom o

MBI KO

Ry A LT 0AHS

W VTS0
2400 Ry s ZAANNK—F 3 Y fi 1+ B 5% ok B
405 E51590 405 400 500
\ \
| |
s 1780 400 2
= 114 1500 40 =
s - |8y —Of =]
| i -
N o] | 4 °
(1500 % 1500) . <
L B \
7 %\ O | e
000 E— ¢ s .,
B D13 n=29%K
L=400nn (2 UHET)
4 B ot T Wl e
a7 —hk 18-8-40 V = 0.405 X 2.990 X 0.500 x 2
+ 2.400 X 0.300 X 0.500 m3 1.571
T NVEREER) | A = 3.290 X 0.500 X 2 + 2.990 X 0.500 X 2 | m? | 6.280
po Wy RC-40 A = 2.400 X 0.450 m2 1.080
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\ﬂ: ANAV4 r 1. N A = = Y i
W E W HE N B = R E
FERI TN Al N7 Z A 0T
BT NGB
2022 2359
R12 1547 263 R12 2147
S T Az S T I
2222 2559
< q«lﬁ‘@@ \,\‘5‘@@
Hi% TYHHE Ry s ZANLN=F
1000
§ ; Ky 9 ZhNIR= b
(1500x1500)
s = [ -
ULy yos
% FR PSS B = H AL P
ay ) —h 18-8-40 V = 0.212 X 1.500 X 1.000 + 1/2x 0.263
X 1.500 X% 1.000 + 1/2x( 2.022 + 2.359 )
X 1.000 m® 2.706
Tl /NREEY) A = 1.700 X 1.000 X 2 + 1.500 x 1.000 x 2 [ mp? 6.400
SERERS RC-40 A= 1/2x( 2.222 + 2.559 )x 1.000 m? 2.391
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\ﬂ: ANAV4 r 1. N A =, = Y i
W E W HE N B = R E
FERI TN Al 27 —2(1500 X 1500)
BT NGB
r»/(rEu%‘P\OOXN:MOO roxane
I
! | ! Ty
i - ;/'/
HEEERINEEE
| 1=
i i 11 202.60 BEABER
: 4
H]%' 400 400 (186400
Af_A
e s-EyF P100x14=1400
20, 1460
0 2z
-2 @a=ra0s - vt LET.
% Bk K& =X B 7 g
-4 FB75X9 [W= 1.714 X X 5.30  (kg/m) kg | 136.263
LM ¢ 16 SS400 |W = 1.500 X X 1.58  (kg/m) kg 9.480
A SGPI5A |W = 1.500 X X 1.31  (kg/m) kg 7.860
S5 1LUTESR  | 100X 100X 10 |[W = 0.100 X X 14.90  (kg/m) kg 2.980
T80 100X50X5 |W = 1.500 X (kg/m) kg | 14.040
RESDILTEH | 100X 75X7 W= 1.500 X (kg/m) kg | 13.980
K= AYT V1= M16 N 4 1 4
FE1 D13 W= 0.150 X X 0.995  (kg/m) kg 0.448
BT 4 H D13 W= 0.700 X X 0.995  (kg/m) kg 5.572
Fogsay ) — 18-8-40 V= 0200 X X 1.50 m® 0.135
vy EEL V= 0200 X X 1.50 m® 0.135
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m | ik ¥ I - BT R
PCHH X0 SWPR7BN W1=8.000 X 8 X 0.774=49.5
W2=7.500 X 4 X 0.774=23.2
W3=6.000 X 12X 0.774=55.7
W4=5.500 X 12X 0.774=51.1
W5=3.000 X 8X0.774=18.6
S W= kg 198.1
T E N=4 X 8(H [l i58)+14 X 4(¥m) HH 88
VBN - 8k D13 W=0.150 X 1.560 X 10 kg 2.3
BT T— M16 N=10 & AT 10
FERET
B LA L 1:3 V=0.356,/10.00X51.2 m® 1.8
a7 —R 18-8-40 V=2.970/10.00X51.2 m® 15.2
TRl P i A=3.000/10.00X51.2 m> 15.4
LR t=20cmRC-40  |A=19.800/10.00X51.2 m> 101.4
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i Bl s HAL G fii%&
171,3’01,;11241_427 FEHE1500 X 1500 X 2000 1E 11.0
2-4 FEAE1500 X 1500 X 2000 1 3.0 e BRI A Y
9,12 FEAE1500 X 1500 X 2000 1E 2.0 | JEERRBA 1 ¢ 50 26T
1 A£HI11500 X 1500 X 1889/1439 1 1.0 Ry BRI A Y
5 #HJJ1500 X 1500 X 1875/1830 1 1.0 RIBERH A ¢ 400
6 AHI11500 X 1500 X 812/767 1 1.0 | JERBH B ¢ 50 26& 7T
7 11500 X 1500 X 988/752 1 1.0
8 A£HJ11500 X 1500 X 1242/1006 1 1.0
15 AHII1500 X 1500 X 1271/977 1 1.0 | JERRBH B ¢ 50 26& T
16 #HI11500 X 1500 X 1797/1503 1 1.0
18 #1500 X 1500 X 1679/1647 1 1.0 | JERBH H ¢ 50 2f& T
19 #HI11500 X 1500 X 1662/1630 1 1.0
22 AHI11500 X 1500 X 1805/1431 1 1.0
23 #HI11500 X 1500 X 1584/1210 1 1.0
28 #H911500 X 1500 X 1544,/1250 1 1.0
29 11500 X 1500 X 1089/795 1 1.0
30 11500 X 1500 X 1479/831 1 1.0 | D13 X254L-500
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#m il b5zl % #F &5 K HAL| %% &
SRR t=4.5mm  |W=20.54 X 36.99(kg/m2) kg 429.1
=N D13 N=12 X2 | 24
W=24%0.410 < 0.995(kg/m) kg 9.8
L-50 X 50X 6 W1=(5.551+0.954+2.301+7.926+3.389) X 4.43(kg/m)=88.7kg
W2=(1.609+1.576 X 2+1.545 X 2+1.514 X 2+1.482 X 2
+1.668 X 2+1.825 X 2+2.258 X 2+2.639 X 2+2.409 X 2
+2.302X 2+2.224 X 2+2.071) X 4.43(kg/m)=206.3kg
SW=W1+W2 kg | 295.0
N &
(\r'b N}
<§
& 7 %,
R
5551 Y
2
1074 1000 1000 1000 1000 476 ‘\\ &
W 0 7
< /5' \J
= < S
v, =
/ / %/ )Ny
E / ‘ /i? 2 5 RS
_J Ar:‘ ﬂé @
= Y N N
1154 1000 1000 1000 1000 10&\' 1000 172

7926

\ﬁiﬂf&ﬁﬁ A=20. 54n’

150

BER (E Ay F)
t=4.5mm

DIIx410 (BfpAv %)

i i
-
Mmmsws/

80

50 50




§6 MEMMERET

SR TR
i il gl bl bs) [ % & 5 =
+T IRIED m’ 121.9
HERELD m’ 121.9
B T | A—R A7k m 8.0
NI 2 &S H=0.9m m 33.4
H=1.2m m 43.6
H=2.0m m 12.0
HEE gL T AR | 7A77 VNS =10cm| m 84.9
ERREEEL [ 7A77 MR =10em [ m? 574.5
27— M BUEL SRAHREE D m’ 59.9
IR LB T A7 7V higk m’ 57.5
)Yk m® 59.9
PekiEmmE 1T LEMARER S m 50.1
A7V — A kg 22.1
RS L RS AKBEV | 6kV CV100-3C | m 40.0
ITVAAZ %0 #E | 600V CV5.55¢-2C [ m 383.0 [138+120+125
C-CPEV0.9-10P | m 383.0 |138+120+125
7C-2V m 383.0 [138+120+125
PHEH CEE-S1.255q-2C | m 87.0 [ H140m
IE3.5sq m 87.0 | F-f#iH140m
RERIT HfZE | 600V CE5.55q-2C | m 65.0
IE3.5sq m 65.0
LR AL | B KRHPL.2-5P [ m 65.0
EFECCP-P0.5-10P| m 65.0
JiEHP1.2-5P 65.0
MNURIR— U B 1.0
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Wk I EHEE
il il H ¥ R v BT B
PRYEY V=18.760,/10.000 X 65.0 m 121.94
HELD V=18.760,/10.000 X 65.0 m 121.94
SREERRUINT | 7A77 MRt =10em [L=18.7+5.3+31.7+23.4+5.8=160.7m m 84.9
EERRUEL |7 A7 VMR =10em [A=212.1+54.0+178.2+130.2=574.5m ° m” 574.5

B )M R L BRI S IRRR L

V1=22.1%0.4=8.84m"

BERR /K BRI L

V2=6.678+11.420+32.923=51.021m"

2 V=8.84+51.021 m’ 59.861
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oS Il E L LK E G R E

FER KON A BERE K1
HOAT 15740
200 1500 200
i | )
W P
& Fr B i = WA HoE
/) —MEREEL V =16.100 X 0.200 + 0.200 X 1.500 Xx 11.528 m° 6.678
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& W AL ' G RE

Rl KO BERR K 52

B AL 1EFTHY

A=9. 8n’

300 300
| o

g X S

& B B B =V AL KR

2 7)—-MEREEL V = 9.800 X 0.300 + 0.300 X 2.000 X 14.133 m® 11.420
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& W AL ' G RE

M KON A R K %3
B 7 LEFTHY
409 409
I g 2 _
4 B B W BiAL| B
)Y - V =22.700 X 0.400 + 0.400 X 3.000 X 19.869 m® | 32.923
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& W AL ' G RE

R KON Bl LAVAR#E
=R VA 10.00m24"
450
350 10
8
o]
% O B =X B i &
av ) - EEEL V = (0.450 x 0.200 — 1/2% 0.350 X 0.050 ) m® 0.813

x10.000
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& W AL ' G RE

R KON Bl 27—
HAL 15240
100150
=1500
1S
% R FSE S " = BT Yo

ST W=(1.000x 11 + 1.500 X 2 )X 1.58 kg 22.120




57

WS R KRR OE
FiRI LY Al iR SR
BT 10.00m24Y
2040
e gl =
640
4 MK ) 2y AL HE
PEHHY V = 1/2%( 2.040 + 0.640 )X 1.400 X 10.000 m® | 18.760
HREL V = 1/2%( 2.040 + 0.640 )X 1.400 X 10.000 m® | 18.760




AE T AR

Fii 21l H 1l ik % B o & =

HhdET T B RC-40 t=20cm m? 721.9

kg B t=15cm | m® 875.9

FE HUBZEET A2V t=5em| m® 974.5

F=E BRI ET A2 t=hem| m? 974.5

IR ERR | AMUR(5emt=1.5mm @) m 43.9

Y7 5(45cmt=1.5mmHAf)| m 162.3

TAH—T m 76.0
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T LEHAEE
BRI T A= t=5cm) JJE CHLRL 7 A= t=5cm)
2V N i =
moOFE | CPHEAE| A B | m OB | CPHmRE| KR
m m IH2 m m IH2 m
No.3+15.10 5.3 5.3
No. 4 4.9 5.3 5.30 26.0 5.3 5.30 26.0
No. 5 20.0 5.2 5.25 105.0 5.2 5.25 105.0
No. 6 20.0 5.7 5.45 109.0 5.7 5.45 109.0
No. 6+5.00 | 5.0 6.7 6.20 31.0 6.7 6.20 31.0
No. 7 15.0 6.0 6.35 95.3 6.0 6.35 95.3
No. 7+3.48 3.5 5.8 5.90 20.7 5.8 5.90 20.7
& & 68.40 387.0 387.0
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T LEHAEE
i B A CL i P A1 t=15cm) T )@ B (RC-40t=20cm)
w0 | B BE i =
moOFE | CPHEAE| A B | m OB | CPHmRE| KR
m m2 m2 m m2 m2 m
No.3+15.10 0.0 0.0
No. 4 4.9 5.3 2.65 13.0 0.0 0.00 0.0
No. 5 20.0 5.2 5.25 105.0 3.4 1.70 34.0
No. 6 20.0 5.7 5.45 109.0 5.7 4.55 91.0
No. 6+5.00 5.0 6.7 6.20 31.0 5.2 5.45 27.3
No. 7 15.0 4.0 5.35 80.3 0.0 2.60 39.0
No. 7+3.48 3.5 0.0 2.00 7.0 0.0 0.00 0.0
& & 68.40 345.3 191.3




S A
#JE g | LiEE | T
E¥IWmE [ 387.0 | 387.0 345.3 191.3
HiEmfEl | 530.6 | 530.6 530.6 530.6
HALmfE2 | 56.9 56.9
Rt 974.5 | 974.5 875.9 721.9

61



BEIN=EEHBEME 1 s=1:500

62
+

i
i ! l111
i [ i
- 215. 89 l | \ @
® - H 215. 66 i ] !
E l 206. 44 205. 20 I|ll
o l
) | I
I 21543 ®l HEK AL IE 4 \
As / l

i
1
i
|
|
|
|
|
|
i
1
i
1
1
1
1
i
i
1
1
1
1
i
1
|
|
|
|

b I & ®
______ . iR
o479 \ / g & “' 208. 97
| Y \\ .
«207. 31 ! AN
zo8. 07 27z \ | 202. 79 | | [HI §:\:—'—__:_\\
_____ N
| : // // y N
O n 204 41 S ..205 35 71 | © i
—————————— A =0 204. 78 - ; ®
! p— e HEAMIA=530. 6n of Jo U__
1 P )
Il i E ® @
| D T /s
l 1 %o 5
| | As /
| i >
1 = #r e e o
i RUTE| % 7 / 3
I SRR ” 8
|
| d 7 ' H
|
| Rt 5 205. 07 Vi \
ll D 5’%%*% / y y \
1
|
| FEEH2A=56. 9n’ |
I 5 BREA o g
o © /N 7y 05. 22 L/,Jﬂﬁ/@) //
T T - T r\’_l -
= = a2
e LC s 20- / -
4 ‘1984_§_7 \ ‘ ——9/;: ; 4-20-5
e (=)
J— s I=4
—_— o~ Q ( F7kl'iﬁ' =4
- < © S a O - -
® =] & @ o Co
- =) m {
=
199.18 ! As
o \ /)
\ [ Go .
.ig 199, 03 D ___====
/o ,:s:=‘;=’
L ° 198.94 § ,,,,
As =



FREHFIHEFEER/MWE 1 s=1:500

63
+

|
1
|
|
|
|
| |
l |
| 1
| 1
1 1
206. 44 :. |II
| |
L sokmER |
| |
| |
| |
| |
1 1
206. 07 \ ll
RPN | \
____________ - |
04. 79 ! \
[ \
! |
! 1
208. 07 \ ,l |
\ |
. - 41 - ‘205. 33
—————————— '_1 5= o0 ~, |[Z0a. 78 ®
A ® ®
As dy
%, /

o B o /
—_—— T
g |

s SN A\ H20-4gh /
N\ [
2 198‘_6_7\‘ ’g/
— =]
N pr-4 =
p— o~ Eg / F—7K1'Fﬁ'
— <~ ® Sa © —
@ (=) X @ o Co
[=] E 7
199.18 ——1 As
N\ © . <
\ H Co ===
) 199, 03 o __o===%
\ I i
o 198.94 8 =
_|_ As =

==

—_—===



64

& W AL ' G RE

FERI TN Al T A=
BT 10.00m24Y
230
080,100 3(
MAE7RIY
&
230
LA i Hi ) =X B A7 $g
HERLEE T 2=y V= 0.02 x10.000 m 0.200




§8 BHFEM T

9 S
Fii il #m 5] i ¥ HAL| % B i
fE¥+T IR m® 2.3
WELD L m’ 2.0
AR B REAHE T H—FL—/ Gr-C—4E m 76.0
H—=RATF Gp-C-3E m 3.0
[5G 1E A T N2 B AR H=2.0m m 24.8
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#m 21l H S - NV BALT ¥ B
RYED +w V= 0.093 X 24.8 m® 2.3
HERLD i+ V= 0.081 X 24.8 m® 2.0
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& W AL ' G RE

M KON A ST IR At
BOf7 10.0m*%4 Y
580
200_ 180200
180
EgJnvyy

/180x180x450

=
X
450
550

0(

(_L(X%_E_ XA

180 180
280 280
Z B (RC-40)
4 B B 2 WALl HE
Fepff7my 7 [180 X 180X 450 N = 10.000 / 2.000 | 5.000
FLHtERA RC-40 t=100 |A = 0.280 x 0.280 x10.000 / 2.000 m® | 0.392
IRYEY V = 0.580 x 0.580 x 0.550 x10.000 / 2.000 m’ | 0.925
HRL WALt |V =10.925 - ( 0.180 X 0.180 X 0.450 + 0.280

X 0.280 X 0.100 )X 10.000 / 2.000 m® 0.813




R TAERHFR
i Ll gl Gl Bl & |HAL B = =
+T PR m’ 88.2
HERELD A m’ 3.7
i m’ 11.6
Hi R R Ty ARG ¢ 80 m 195.0 65X 3
INURB—L 800X 800X900 | M 1.0
HIERE ITVAAZEY [ 600V CV5.55q-2C [ m 383.0 | 138+120+125
C-CPEV0.9-10P | m 383.0 | 138+120+125
7C-2V m 383.0 | 138+120+125
PHEHA CEE-S1.255q-2C | m 40.0
IE3.5sq m 40.0
IKRERAT H 600V CE5.55q—2C | m 65.0
IE3.5sq m 65.0
HEGLR AR H k#HHP1.2-5P | m 65.0
EFECCP-P0.5-10P[ m 65.0
fEiEHP1.2-5P | m 65.0
PHETF#HE 1A PHET 5 1.0
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T THENEE
i Jill B 1 CLC RV HAZ| % &
IRIEY +wb V= 0435 X 1950 + 1.832 + 1.521| m’ 88.2
HERILD W L V= 0.032 X 650 + 0.848 + 0.764 | m’ 3.7
w V=" 0.179 X 65.0 m’ 11.6
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o Y A KRG R E

R KON Bl FEP® ¢80
BT 10.00m 49
640
mEL o
2 o
Bt =
00 =
{00
i L FEPE ¢ 80
7 100 10 FEPE B0
4 B RO H = B AL o
PRIEY V = 0.640 X 0.680 X 10.000 m® | 4.352
HEL I V = 0.640 X 0.280 X 10.000 m® | 1.792
WAt V = 0.640 X 0.050 X 10.000 m® | 0.320
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o Y A KRG R E

FERBI KON Al INURFR—L
SR Ya NI
4810 1340
135 4600 135 200 940 200
_ N;@E'Fﬂm =0
E FERE f F— —
\‘ P——9] l\ 9
73 - | R e % / )
N : “‘ 5 : BELEL(1:3) : { : §
2 777\7’@3777 (%?738:/4%)‘}_% ) 'y
s 000 9 048 =
£ # (R0-40)
10 800 10 100 940 100
100 940 100 100 1140 100
1140 1340
% R B B 2V HL A7 B
NURBR—L 1800 X800 X900 N = e 1.0
LA )L 1:3 V = 0.940 x 0.940 X 0.030 m° 0.027
a7 —nk 18-8-40 V = 1.140 x 1.140 X 0.100 m° 0.130
Tl e s A = 1.140 x 0.100 X 4.0 m? 0.456
FEEAT RC-40 A = 1.140 X 1.140 m? 1.300
R YD V = 1.340 X 1.340 X 1.020 m° 1.832
WL V= 1832 - 0.940 X 0.940 x 0.820 - 1.140
X 1.140 X 0.200 m° 0.848
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~ NN /2 1. N =N = oA
E W BN B = iR E
R KON Bl PHE F
SR Ya L& FTH40
TEH W E R
900 900
150 600 150 150 600 150
B ] B
H B4 (RC-40)
H]% 900
1300 1000
200 900 200
wy V) &
900
1000
AN RO B =V B gy
ayy—h 18-8-40 V = 0.900 X 0.900 X 0.750 - ( 0.600 X 0.600
X 0.600 ) m® 0.392
e s A = 0.900 X 0.750 X 4.0 + 0.600 X 0.600
X 4.0 m> 4.140
JEERA RC-40 A = 1.000 X 1.000 m> 1.000
RIED +wh V = 1.300 X 1.300 X 0.900 m 1.521
L D V = 1.521 - 0.900 X 0.900 X 0.750 - 1.000
X 1.000 X 0.150 m® 0.764
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§10 B L
Rl TAER R
i il gl 5l B B %% = fi§ 2
B AE T BN EOXH=1.0m | A& 16
th A EvIYE * 9

H=3.0m#}JE20cm




el 1
KA (X2% H=1.0m)
N=164

HFR (B~7YvA H=3.0m. §J&20cm)
N=24%
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